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(1) logs9 (2)
Ans.

(3) logqo 1000 4)
Ans.

(5) logs5 (6)
Ans.
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(™ logi 1= ®)
Ans.

(9) logs V6 (10)
Ans.

(11) 1log, i/?

Ans.

log, 64

Ans.

log, 128

Ans.
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Ans.

log 33

Ans.

1
logs E

Ans.

(12) logs V25

Ans.
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Ans.
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Ans.

logq 27
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(1) loge3 +logg 12 (2) logip2 +1logyy 50 (1) logg1l6 (2) logy,9
Ans. Ans. Ans. Ans.
(3) log,56 —log, 7 (4) logz7 —log; 63 1
3 E— 4 10g1 32
(3)  logys T3 (4) :
Ans. Ans.
Ans. Ans.
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g (5) logm\/g (6) log% Y125
1
(1) 2log,3—log, 18 (2) loggV18 + EIOgs 2
Ans. Ans.
Ans. Ans.
(3) 4logs V10 — 2logs 2 (4) logio4 —logyy5 + 2logyo V125 M7 OXAFHEIZE L.
(1) log,3-logsz2 (2) logz5-logs9
Ans. Ans.
7 8 1 2 Ans. Ans.
(5) logs - log; 14 + logs 5 (6) 4log, V2 — Elogz 3 —log,

Ans.

Ans.

(3) log,5-logs8

Ans.
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(1) log,3-logs5-logs4 (2)

Ans.
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(1) log, 10 —log, 25 2
Ans.

(3) log, 6 —1log,9 (4)
Ans.

(5) log ;3 —2logy9

Ans.

log, 3 - logg 25 - logs 8

Ans.

logs V2 — logs 2

Ans.

logs 72 +log1 8
3

Ans.
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(1) log,3-(logsz2 + logg4) (2) (logs5 +logg 25)(logs 9 + log,s 3)

Ans. Ans.

(3) (log, 27 + logg 3)(logy 8 + log; 16)

Ans.

11 log,3=alog,7=b LT5LE, RDEL a,b ZHNTERE.
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(1) log, 21 ) log, ?
Ans. Ans.
(3) log,12 (4) log, 126
Ans. Ans.
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(3) logsx=-1 (4) log,x = 5
(1) logsx () los1x
A A
Ans. Ans.
(5) logs(3x+2)=1 (6) logy(x+2)+log,(x—1)=2
1
3)  log, = (4) logsx
A A
Ans. Ans.
(7) logz(x —3) +logz(x—5) =1 (8) logz(x—3)+2=1logz(2x+ 1)
M9 kOFBRAZME LIV,
(1) logyx =2 ) log%x — 4 Ans. Ans.
10 ROARFEALME RS0,
(1) log,x<4 (2) logyx>1
Ans. Ans.
Ans. Ans.
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3) log%x =2 @) log%x <-1 Q) logs(x+1) +logs(x +2) =1 (10) log%(x -1+ log%x <-1
Ans. Ans.
(5) log,(x+1)=2 (6) log%(Zx -3)< 10g%(x -1
Ans. Ans.

11 ROFERAEHE 72 X0,
(1) (ogzx)*—log,x—6=0 (2) (logs x)? —logs x2 =

Ans. Ans.
(M) loga(x+2) < -1 (8) log%(x +1)=0
Ans. Ans.

Ans. Ans.




